Goniometrické vzorce
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. sin(a + ) = sinacos 3 + cos asin 3,

2. cos(a+ 3) = cosaccos § — sinasin 3,

2

3. sin2a = 2sinacosa, cos2a = cos®a —sin? @, cos?a+sin?a =1,
" Cosza:1+cos2a’ Sinzazl—COSQOK’
2 2
5. cosacos B = 5 (cos(a+ () + cos(a — B)),
6. sinasin 8 = 1 (cos(a — B) — cos(a + ),
7. sinacos B = 1 (sin(a — B) + sin(a + 3)) .
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8. sin0=cos—=—, sin—-=cos— =—, sin— =cos— = —,
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9. si s ™ \/§ ™ 0 \/1
sin— =cos—=—, sin— =cos0=—
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10. cosnm = (—1)", sin(2k — 1)% — (1)1, cos(2k — 1)% =0,
Logaritmy
1. log,(zy) = log, = + log, v,
2. log, <;> = log, z —log, y,
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Derivacie
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cosz) = —sinx.
1
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(arcsinz)’ =
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(ax)/ =a*lna.




Integraly

xa—l—l

1) [a%dx= pre «a # —1.

a+1
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2) f;dlenpc].
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4) [sinxdzr = —cosz.

5) [coszdr =sinz.

6) [ o dr = tew.
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T = —cotg .
sin? 8
1
8) [ 1522 dx = arctg z.

1 .
dxr = arcsin x.
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9) f\/li
10) [e"dx =e".

11) [a"dz = —.

Ina
12) Ak [ f(z)dx = F(z), potom ff(a:r+b)d:c:2F(ax+b).
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1 S dp=-
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Substiticie

T _ _ _ 2dt _ 2t _ 1-¢2
1. tg3 =1, v = 2arctgt, dv = T SN = 7, cosw = 7,

— _ _ _dt 2 t2 2. _1 : —
2. tgx =t, r = arctgt, doe = T2 SN % = g, CO8“ T = Hog, sin2r =

2t
t2+1 )

R L . L S S
cr+d cr+d

4. a >0, Var? + br + c = Jar+t, ar’>+br+c = ar’?+2\/axt +12, =
?, dr =? Vax? + bx + ¢ =7

5. ¢>0, Var? +bx +c = \Jctat, ax?+bx+c=cEt2/cat +2%?, x =
?, dr =7 Vaxr? + bx +c =7



